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                    Let-8  

 6.5 persons sit on one bench. How 

many benches will be necessary for 45 

persons? 

Soln: 

         5 persons sit on 1 bench 

So,  45 persons sit on (45÷5) benches 



                                        =9 benches  

Ans: 9 benches      

                                                 

7. A man bought some eggs and paid 32 

Taka. If the price of one egg is 4 taka, 

how many eggs did this man buy? 

Soln: 

     In 4 taka a man bought  1 egg 

So, In 32 taka a man bought (32÷4)eggs 

                                                     =8 eggs 

Ans:8 eggs. 

 



8. 8 students make a group in each. If 

there are 72 students , then how many 

groups will be there? 

Soln: 

       8 students make 1 group 

So, 72 students make (72÷8)groups 

                                         =9 groups 

Ans: 9 groups. 

NB: “Do the exercise according to your 

capacity.” 

                                The end 

 



       


